
 

It will be more likely that Oregon achieves these outcomes and moves these measures. 

 

Problems are too big and resources to limited for any one organization, agency or organization to 
fix alone … 

But If…    
         

 there is agreement across sectors and agencies on the 
ultimate outcomes that the early learning system is trying 
to achieve and how to measure those outcomes, 
 
and 
 

 all of the sectors and agencies that work in those sectors 
are able to see how their work contributes to those 
outcomes and moves those outcome measures, 
 
and 
 

 there is commitment across sectors and agencies to address 
those ultimate outcomes and measure of those outcomes, 

 
 
 
 
 
 
 

Then… 
 

 all sectors and agencies will be able to increase their focus 
on achieving those outcomes and moving those measures, 
 
and 
 

 all  sectors  and  agencies  will  be  able  to  identify  and 
articulate  there  contribution  to  those  outcomes  and 
outcome measures, 
 
and 
 

 all  sectors  and  agencies  will  be  able  to  identify  and 
articulate  the  support  they  need  from  others  in  achieving 
those outcomes and moving those measures, 

       and 

 once all sectors and agencies have identified and articulated 
their  contribution  and  their  need  for  support,  it  will  be  
easier  for  sectors  and  agencies  to  identify  and  articulate 
how  they  need  to  work  together  to  achieves  these 
outcomes and move these measures 



 

It will be more likely that Oregon achieves these outcomes and moves these measures. 

 

 


